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SN BA(SA) - MRAY - BES 0l &t o il HImEET
IIE=NE 31,000 30,000 1,000
201 £B-2d| 29,000 29,000 0
01 At 22l 300 0 300
ods 3H a3 MY 100,000& + 3¥ 300
03 &AL2 I 28,700 29,000 A 300
ov(s)=sAM2ss 29¢ 28,700,000 28,700
301 LeHBAF 2,000 1,000 1,000
12 J|EtE4 = 2,000 0 2,000
OAl& S 2,000
Oogds 3¢ U3l 1,000,000 1,000
O=M3AZ=UZ 1,000, 000& 1,000
NN 23 213,897 206,607 7,290
AN NS 86,835 76,549 10,286
201 Let249] 12,315 10,939 1,376
01 At 22l 12,315 10,939 1,376
oOFIIHEE F=EE 5,580
Os2X 15,000& * 18I AL » 128 3,240
OX X 13,000& = 15JH AL » 123 2,340
o3P =4l 1,2209 » 5,520 6,735
206 = Hl 5,520 4,860 660
01 MHZ 4l 5,520 4,860 660
OENELUES 5,520
ORFID TAG 500& = 5,52004 2,760
OcteE =X 2 95 500& = 5,52004 2,760
405 XtAHE SHI 69,000 60,750 8,250
02 =M=l 69,000 60,750 8,250
OLEtE A 12,500& * 4,640& 58,000
OMgetE N EA 12,5008 » 880 11,000
AYEM2 E2E20Y 29 32,243 32,328 A85
201 YEt2 A H| 30,643 30,728 ~85
01 At 22l 2,708 2,708 0
O=ALZE 2,000& » 760% 1,520
OEM2 EES 2,500&  475% 1,188
03 & Ar2 Z I 27,935 28,020 A 85
O=AM2stZE20d8 23 24,170
OZ M=
35,0003 = 2AI2t = 14048t * 243] 23,520
O8=+9 70,000& = 504 350
oxzd 29 4223 300,000& = 13l 300




0z 00 N

HBZMsE2S Q
ZTNHD 29(2382
gohT 2

M. o (BH) - HSAY - BAS il HDS2
O M 2==2t SHA} 765,000& * 13 765
OSsAMaAY A 1,000,000& = 13l 1,000
oOx3d ¥JI39 500,000& * 43| 2,000
301 deEtE X = 1,600 1,600 0
09 #HALAHI X &= 1,600 1,600 0
oOZz 1y XIASALA =4I
8,000& * 10¥ * 203 1,600
A2 A 29 16,980 17,869 A\ 889
201 et A | 2,045 2,034 11
01 AFR2t2l Yl 2,045 2,034 11
oZelH EY 220,000& * 54 1,100
O=Z2A] EY 260,000& * 1JH 260
O=2AD EH 475,000 = 1JH 475
OEAEX 21,000& * 102+ A 210
206 T 24 6.615 6,615 0
01 X2 bl 6,615 6,615 0
CIN RS 4,000
OU&EItE 1,500& * 2,00004 3,000
OJteel 2 80,000& * 10H 800
odleE=zaec24y 10,000& * 204 200
OXz &l AtCI= 100,000& * 6H 600
OLIXNEX=za 29X 975
(@) E=s 35,000& * 150H 525
(OFIi=a= 15,000 * 1504 225
(@] E==s 15,000 * 1504 225
OEANES+E HOIZ 150,000& * 28 300
oONsU=Eetd) =3 X 3,0008 * 80= 240
OAI2& |2t A 20,000& * 10H 200
OAItE SHE 3,000& = 1004 300
301 dEtEX = 8,320 8,320 0
09 HAIAHIXI &= 8,320 8,320 0
OXNEESAX =4l
20,000 * 49 = 104 8,320
NYTNT ANESRN2E 77,839 79,861 ~2,022
101 2124 d| 58,096 60, 111 N2,015
4 0|2tH 22 NHEE 58,096 60, 111 N2,015
OFA EEE B4(299) 54,598
Ool2t] 81,340 » 2% = 262 * 128 50,757
(@F=FSE=l 5] 200,000& * 29 = 23| 800
O X2 AHH| 81,340& » 29 x 15¢ 2,441




SN CARBYSSESY QESLTND
Hi: ZZCANY 2E(2L22/2sH0 =)
el NEEAB 29 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=XNEQAUE 300,000& » 29H 600
cd4liEEgz JIHRE= 3,498
OHLEE= 53,998,000& * 3.43% 1,853
OFIRLEEE 1,853,000& * 11.52% 214
OnsEE= 53,998,000& * 1.65% 891
OtHEE = 53,998,000& * 1.00% 540
201 Let24d] 19,743 19,750 AT
01 At 22l 19,029 19,036 AT
ORQIHIANAEH AIBZ= 220,000& = 12& 2,640
oOdeF=I| itz 34,0003 = 404 = 12& 1,632
OZ3J18&J| gx=z 43,0003 * 700 ~ 128 3,612
OMASI AR3 300,000 = 2CH = 13l 600
Oz & HAES 6,200,000 6,200
oY ALES 2,480
O&Ea=H 130,000& *» 8 A 1,040
OazA=H 90,000& = 164 1,440
oOd2E=+I =538 16,5003 » 102 A 165
oXMEBE(SE 2) 50,000& = 68 * 43| 1,200
OAld AtQIZ 100,000& * 54 500
02 =24l 714 714 0
OdF3x E 14,0002 » 518 714
HACHT 29 225,829 218,145 7,684
A H=2EE 86,031 75,786 10,245
201 €82l 11,511 10,176 1,335
01 At 22l 11,511 10,176 1,335
CFJIZEE A== 4,776
OF3=ON| 15,0002 * 179 AF » 12 3,060
OX X 13,000& » 1T1HAL » 123 1,716
ott=a2 =4l 1,2209 » 5,520 6,735
206 TH 2 4| 5,520 4,860 660
01 M2 4l 5,520 4,860 660
OEMEEES 5,520
ORFID TAG 500& = 5,52004 2,760
OcteE =X 2 95 500& = 5,52004 2,760
405 XHobF S HI 69,000 60,750 8,250
02 =M=l 69,000 60,750 8,250
oY N 12,500& * 4,640 58,000
OMgetENEA 12,5008 » 880 11,000
HACHD 2HT20Y 29 40,170 41,725 A 1,555
201 et 38,570 40,125 A 1,555




0 Ok HN
[ oy ==
o

HYSEER 2854
N2 2g(ssga
N2 2y

SA BB O () - MM - HES il
01 At 22l 4,500
OsNMLE2E 2,000&  1,000% 2,000
OEANZ BEZS 2,500& * 1,000 2,500
S AHZ S I 34,070
O=SMISEZZ ) 2 28,770
OL A=<
35,000 = 2AI2F = 14048t * 243| 23,520
O =9 70,0002 = 1504 1,050
OZ20Y 23 ARF
300,000& * 28 * 23| 1,200
OSg2M=E(AZEZ) 500,0008 * 63 3,000
O=Ms0tel 54 1,400
O=SUE A=Y 35,0003 * 2AI2F = 203 1,400
O AMZt=2F AL 900,000& * 13| 900
O=AM2AY A 1,000,000& = 13| 1,000
oOxd FIIZ2H 500,000& * 43| 2,000
301 LPEAF 1,600
09 HALAHIX &S 1,600
OZ=20d XAESALX S4HI
8,000& = 109 » 20« 1,600
HASAZ NHesgEgs 23 18,975
01 LB Al 4,075
01 At 22|l 4,075
oZeH EY 220,000& = 54 1,100
O=AIl EYH 260,000& = 8K 2,080
O=AI EY 475,000& * 14 475
OSsAIE X 21,0003 » 20 A 420
WL 7,700
01 =8l 7,700
OUE3IAE 4,000
OU&3te 1,500& = 2,0004 3,000
OJteel= 80,000& = 104 800
OslE=aelu 10,000 * 200 200
OXZ A A= 100,000 * 54 500
OEAME=Z2 HOIZ 150,000& * 38 450
OMItE SHE 3,000& = 1004 300
OXsUlsEegl =5 EX
3,000& = 1008 300
Od=2H=Z 10,000& * 307H 300
OAZ2E JlgA 20,000& = 1504 300
otXgiza 2L XM 650
OdlEA 35,0002 = 1094 350
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SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
Sel: QFENY 2Y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O Xl & X 13,000& * 110HAF x 122 1,716
ooz 3= 1,220& = 3,560 4,344
206 M =8l 3,560 3,400 160
01 X2 bl 3,560 3,400 160
OEANE2ES 3,560
ORFID TAG 500& * 3,560H 1,780
Octd Sk 2 93 500& = 3,560H 1,780
405 XHo&HF SHI 44,500 42,500 2,000
02 &M+ H| 44,500 42,500 2,000
O=A 44,500
OLEE A 12,500& = 3,240 40,500
OMGEEHI & M 12,500& = 320& 4,000
QETAY StTZ2 ) 2HA 28,915 26,879 2,036
201 et A | 28,115 26,079 2,036
01 AFR2t2l bl 2,565 2,565 0
oOsN=2E 2,000& = 570% 1,140
OEANZ E8= 2,500& x 570% 1,425
03 SHAIS H I 25,550 23,514 2,036
OsSMSIEZ 1S 24 20,710
[OFPNE=
35,000& * 2A12F = 1204 Bt x 243 20,160
O8 =5 70,000& = 504 350
OZz )y 2EALE 200,000& * 13] 200
O M&F2 &AL 720,000& * 13 720
OSAoY At 800,000& * 13 800
Ox3d HIIsH 500,000& =* 43| 2,000
O0ICI ClE Al Bs 220,000& * 23] 440
oY = 220,000& = 43| 880
301 dBtE X = 800 800 0
09 SHALAHIXI &= 800 800 0
OZZ )& NASAL =4I|
8,000& * 10¥ =« 103 800
QHCNT NEITY 29 22,325 21,814 511
201 LEt2 Y| 2,045 2,034 11
01 AR 22| bl 2,045 2,034 11
oZelHd EY 220,000& = 504 1,100
O=2AMI EUYH 260,000& * 1JH 260
O=2AD] EH 475,000 * 104 475
O=2AEX 21,000& * 102+ A 210
206 M = Hl 5,460




CHRBMESES QESLCAHB
SBTAS 2 (L2 /20 =)
ETAHS 2 )
SN HH-S(BN) - MBAY - B il HlnE2
01 =8l 5,460 5,460 0
OUE3IAE 1,750
OUsate 1,500& * 5004 750
Oateela 80,000& = 104 800
OslEzaelu 10,000 * 200H 200
OUXEXz4d 2L 860
OdlEA 35,0002 = 109K 350
OIIEE 15,0002 = 17H 255
Oottea 15,0008 174 255
Od=ZH=ZE 10,000 * 400H 400
OA=2E JIgA 20,000 * 104 200
ENME+=E HOZE 150,000& * 58 750
onstEEEI g5 EX
3,000& » 1002 300
O M EH| 40,000& = 104 400
OMItE SHE 3,000& * 100K 300
OFIIUHEE AEIA 1,000& * 5004 500
301 LEPEAF 8,320 8,320 0
09 HALAHIXI RS 8,320 8,320 0
OXNASALAL &S Al
20,000& = 4% = 104 8,320
405 RHoHE S HI 6,500 6,000 500
01 AL EZFH S 6,500 6,000 500
ozgkza NIt 3,300,000& = 14 3,300
O&Xl Mt 800,000& =« 404 3,200
SIHENT NESRA 2L 75,379 78,014 ~2,635
101 14 Hl 58,096 60, 111 22,015
04 JIZHHZ2XREE S 58,096 60, 111 N2,015
OFA EEZ E(29) 54,598
ooz 81,3403 = 2% » 26 » 123 50,757
OZFEFItHI 200,000& = 2% « 23| 800
OAXLE &I 81,3403 * 2H « 15¢ 2,441
O=XEQAE 300,000& = 29H 600
428z JI2RE3 3,498
OFaR= k= 1= 53,998,000& * 3.43% 1,853
OINQYEE= 1,853,000& * 11.52% 214
(@IE=30=: =1 53,998,000& * 1.65% 891
OdMMMEE = 53,998,000& * 1.00% 540
201 et2 Y| 17,283 17,903 1620
01 At 22l 17,283 17,903 A 620
ORIHIAMAEH AIB= 237,500& » 123 2,850




SN CSHNBBYSSES QFSLCNB
M ZREAD 2Y(SHUBB/250S)
SPl: QECTAHR 29 (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Odem2)| Ytz 23,7509 * 40H * 128 1,140
OBINFII ARE 42,7502 + 604 * 122 3,078
OMAS)| AQRE 300,0008 * 3CH * 18l 900
O =M L HASE 5,510,00084 5,510
oSS 2,840
OzASH 130,0008 * 882 1,040
OarASH 90,0002 * 207 1,800
odey+I 2= 16,5002 * 10%f 2 165
OFANRESE(YHES ) 50,0008 * 85 400
OFMEE(SZ @) 50,0008 * 45 * 23l 400
LA 29 315,575 337,606 ~22,031
SLCNT NEHS 111,032 155,924 144,892
201 et2 | 17,072 19,844 A2,772
01 AbR 22l 17,072 19,844 A2,772
CE-PIE- T 4,260
Oz2X 15,0002 * 15JHAF * 128 2,700
OX X 13,0002 * 10JHAF = 128 1,560
OVODMHI A AlSZ 360,0008 * 128 4,320
ChEEE 1,202 * 6,960 8,492
206 T 2t 6,960 10,080 £3,120
01 ME 6,960 10,080 £3,120
CEVIE-EIF=3-1 6.960
OFRFID TAG 5002 * 6,960 3,480
OcteEX 2 95 5002 * 6,960 3,480
405 XtorF S| 87,000 126,000 39,000
02 SN P 87,000 126,000 39,000
OF A 87,000
0L A 12,5008 * 6,080 76,000
OBgtera i E M 12,5009 * 880 11,000
SLCHD 2sEzY 29 35,490 34,225 1,265
201 Ypte | 34,290 33,025 1,265
01 At 22IH| 4,500 4,275 225
OSN-2F 2,0008 * 1,000% 2,000
OZHZ BERE 2,5008 * 1,000 2,500
03 A2 29,790 28,750 1,040
OSNRHZ2]Y 29 22,460
OLASY
35,0008 * 2A12 « 1248t + 243l 20,160
O+ 70,0008 * 2074 1,400
OZ21y 29 A3 300,0002 * 33 900




SN CHEBMSEZE QST A
HM: BEANS 2 (2L 2Z /250 =)
el 2YEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oOx3d HJI39 500,000& * 43| 2,000
O M&F2 &AL 900,000& * 13 900
OSsAHY &AL 1,000,000& = 13 1,000
OsMHMs0tel 4 2,430
OSUE AALY
35,0003 * 2A12F = 29HEE % 123] 1,680
OEES &N ¢ 12,500& * 10& x 63 750
O=sSANE23EY 1,000,000& * 13 1,000
301 dEtE X = 1,200 1,200 0
09 HALAHI X3 2 1,200 1,200 0
OZZ )& UHASAI =4I|
8,000& * 109 =« 153 1,200
SLCHP HELTN 29 43,430 39,773 3,657
201 LEt2 Y| 2,805 2,888 A 83
01 AFR2t2l bl 2,805 2,888 A 83
ozZglyH EY 220,000& = 8JH 1,760
O=2AI EYH 260,000& * 24 520
OEAEX 21,000& * 258+ A 525
206 T2 HI 11,925 11,925 0
01 & bl 11,925 11,925 0
Ol EEEES 6,600
OU&EIte 1,500& = 2,00004 3,000
OJteel 2 80,000& * 404 3,200
Odle3acely 10,000 = 404 400
OANIIE SHE 3,000& = 1004 300
OEMES=E HOIZE 150,000& * 58 750
OXNsUHERIE) 945 X
3,000& x 3002 900
O¢dEZMEE 10,000& * 304 300
OLXNEX=za 29X 975
(@) E=s 35,000& * 1504 525
(OF] === 15,000& * 1504 225
(@8] == 15,000& * 1504 225
OAIE2E |2t A 20,000& * 1504 300
OXZ= &l AlSI= 100,000& = 10JH 1,000
OBt 40,000& = 2004 800
301 LR HI 25,200 24,960 240
09 HALAHIXI &= 25,200 24,960 240
O XN ESALA E=4lY|
20,000& = 124 = 105¢ 25,200
405 X+HoHF SHI 3,500 0 3,500




2N
X ZH -
L= B

el

0l Ok H1

Negysses
TTHB 29(2
Y NP 29

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 MMM =ESHFS 3,500 0 3,500
© A Dt 1,500,000& = 24 3,000
OPOS E0O1Y 500,000& = 1JH 500
LEN2 AIEdER A 22 125,623 107,684 17,939
101 @121l 103,395 85,319 18,076
04 J|2tHI 2 2 At 103,395 85,319 18,076
OFA JI2HA (3¥) 73,989
oot 73,280 * 39 * 26 » 12& 68,591
OY &SIyl 200,000 * 3Y = 23| 1,200
OdIE & 73,280& * 39 15 3,298
O=2X=ZEol 300,000& * 39 900
O4HEE = == 8,023
O=01Hz 73,089,000& * 4.5% 3,290
OAndEEZ 73,089,000 * 3.43% 2,507
OIRLYEEZ 2,507,000& * 11.52% 289
onggEss 73,089,000& * 1.65% 1,206
OMMEE = 73,089,000& * 1.00% 731
(O ES=: 21,383
O24 Xt 6,023,010& * 1H 6,024
O34 Xt 7,679,340& * 2YH 15,359
201 et A bl 22,228 21,095 1,138
01 AFR2 2t 2l Yl 22,228 21,095 1,138
ORI AHIAIA A2 S 320,000& = 128 3,840
oded | = 37,000& = 504 ~ 128 2,220
O3J1&8 8| =3 45,0008 = 704 = 12& 3,780
OMASFI| 4 300,000 * 2CH * 23] 1,200
Oz&a ¥ HAES 6,200,000& 6,200
oY AZES 2,840
Oz=A=H 130,000& * 88t A 1,040
OaRAEH 90,000& = 204 1,800
oddsd =sEZ 16,500 * 158t A 248
OFANZ2ES 50,0008 * 305 1,500
OdNMEE(5E ) 50,000& * 4 * 23] 400
f=EA2 &9 143,281 0 143,281
SN2 ANESES 53,564 0 53,564
201 L2 Y| 7,664 0 7,664
01 At 22l Yl 7,664 0 7,664
OFIN2UHE =2 3,516
O= 21X 15,000& * 1000 AF » 12& 1,800
ORI X 13,000 * 11JHAF = 128 1,716




SHEBYSESEE 285
DJTHT 2 (2L
Wechz 2o

S B G(SA) - NRANY - BES il 2
o a7=tl 1,2209 = 3,400 4,148
206 M= Hl 3,400 3,400
01 MHZ 8l 3,400 3,400
OZNECUES 3,400
ORFID TAG 500& = 3,4000H 1,700
OcteEEX 2 98 500& = 3,4000H 1,700
405 Xt&tE SHI 42,500 42,500
02 =M=l 42,500 42,500
O=A 42,500
Ot M 12,500& * 3,400 42,500
H=EA2 2EZ208 23 14,280 14,280
201 et 13,880 13,880
01 At 2teltl 1,250 1,250
oOcNZ EE= 2,500& » 5008 1,250
03 AHZ I 12,630 12,630
O=sA2tZ2OY 2 10,630
Oz A=¢
35,0003 = 2AI2t = 6IHBE « 243] 10,080
Og+=% 70,000& = 54 350
OZ20Y 2ZA2SE 200,000& * 13 200
O Mat=2+ &AL 500,000& = 13l 500
O=SM2ALE A 500,000& = 13l 500
O=x=d FII3¢ 500,000& * 23 1,000
301 LA F 400 400
09 AL HIXI &3 400 400
Onz Y NFSAX S4H
8,000 = 5%  10¥ 400
=EA2 Hged 249 10,815 10,815
201 Let2dE] 1,605 1,605
01 At 22l 1,605 1,605
OZgH ElH 220,000& = 304 660
O=AMIl EUY 260,000& * 1K 260
O=AMI & 475,000& = 14 475
O=AMEX 21,0008  10=HA 210
206 T & H 5,050 5,050
01 M= 4l 5,050 5,050
OUHEEE 1,750
OUsate 1,500& * 5004 750
Oateela 80,000& * 1004 800
OdlE=aely 10,0002 * 204 200




SN CARBYSSESY QESLTND
HM: BEANS 2 (2L 2Z /250 =)
Sel AEAT 29 EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OCLIXNEX=za 29X 650
(@) I=s 35,000 * 104 350
[OFI== 15,000& * 1094 150
(@8] == 15,000 * 104 150
ONZHMEE 10,000 * 20H 200
OANZ2E J|8A 20,000& * 104 200
TAES+E HOolZ 150,000& * 58 750
oOXNsUHsEEIE) g94+5 X
3,000& x 1002 300
O M2t 40,000& * 1004 400
OANIIE SHE 3,000& = 1004 300
O&IIUHZE AEIH 1,000& * 500H 500
301 dEtE X = 4,160 0 4,160
09 HALAHI X &= 4,160 0 4,160
OXEASAX 2SS4l
20,0003 * 29 = 104 4,160
W2 AEdER K22 64,622 0 64,622
101 @121l 54,027 0 54,027
04 JI2ZtH 22 XNEE 54,027 0 54,027
OFA JI2tH 2(29) 48,740
OolAdl 73,2803 * 2 x 262 x 128 45,727
OY &SIyl 200,000 * 29 * 23| 800
O X2 AHH| 73,2803 * 29 x 11 1,613
OsXEQE 300,000& * 24 600
O4iB2gE Jla8g=2 5,287
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oggAES 1,160
O&EASH 130,000& = 28t A 260
Oat7A=H 90,000& * 10H 900
oddsd =sEZ 16,5003 * 102+ A 165
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SN CHEBMSEZE QST A
Y BHLARU(CHREMSSES QBELTAHR)
chel: ol gyl CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
oJlez 2,447,030& * 149¥ x 12& 411,102
o=2s52Y 122,350& * 149 = 12& 20,555
OFMZAY| 140,000& * 144 = 128 23,520
(OF F=E=y 50,000& » 144 = 12& 8,400
OS4+xR4¢ 30,0008 * 142 « 128 5,040
Oons==4g 6,240
—-bif < Xt 40,0003 * 8" x 12& 3,840
=JIEHIHS 40,0003 = 5% = 12& 2,400
Oxm=22RxE 172,000& * 149 = 12& 28,896
OY &SIyl 1,223,510& * 14 x 23| 34,259
O I A 91,7603 * 14Y = 20 25,693
303 A2 11,200 0 11,200
02 A= 11,200 0 11,200
O3%22& duadZ2 800,000& * 14H 11,200
304 H=2R2E=2S 63,099 0 63,099
01 =82 =2 25,871 0 25,871
O=0dZ2 JIARE S 574,905,000& * 4.5% 25,871
02 m00AHAUESES 21,992 0 21,992
OHLEE JIAE2E2 21,992
OHZdEE= 574,905,000& = 3.43% 19,720
OIIYEE= 19,720,000& * 11.52% 2,272
04 22X (RIHY) 22NN EEESEH2S 15,236 0 15,236
OUNEBMMEE JIHEEZ2 15,236
onggss 574,905,000& * 1.65% 9,486
ONMIEE = 574,905,000& = 1.00% 5,750
Jl2& bl 500,257 428,018 72,239
JlE2&H| 500,257 428,018 72,239
201 et A | 423,577 401,066 22,511
01 AFR2t2l bl 38,321 39,609 N 1,288
OJI2gRs8HEsH| 450,000 * 239 10,350
o=3gdl (JI=&yl)
8,000 * 33¥ * 7 * 12& 22,176
OFIAZE 22= 120,000& * 10¥ = 23 2,400
O=2AMI EUH 260,000& * 204 520
OZ2AD] EH 475,000 * 104 475
O=AJ| dxtz 200,000& = 12& 2,400
02 33249l 385,256 361,457 23,799
OZAIIAR2 950& * 5,250m * 12& 59,850
osEE 4,650
O gt 4003 = 1,000 400
O8I 2,500& x 500 1,250




2N SA2EHMSISER QEASHT A
Y BHLARU(CHREMSSES QBELTAHR)
Ee: I3 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(OFE 5,000& * 600H 3,000
odIIe= 264,528
OJI2ea2 6,370 * 200kw * 6 A * 128 91,728
oMNsERZ
100 * 24,000kw * 6IHA + 128 172,800
O&dt+ER22
1,920 * 380m * 64 * 12& 52,532
OXNSXEE 800,000& = 1CH 800
O Xt XA 100,000& = 1CH 100
(OPNE=FaR=la:] 1,500
O&I| Xt 1,500,000& = 1CH 1,500
ogdEtss= 18,000& * 64 = 12& 1,296
202 044l 27,600 19,872 7,728
01 2LHOHI 27,600 19,872 7,728
OJ|IEZHI 20,000& = 23¥ * 52 * 12& 27,600
203 ¥R =&H| 7,080 7,080 0
04 EANSHLRF=AH| 7,080 7,080 0
OJ|EN 7,080
OJI2(30% olat) 400,000 * 12& 4,800
O=1H(3121 0l 4t) 5,000& * 38YH x 12& 2,280
405 XH&HF SHI 42,000 0 42,000
01 JHAHE =2 Z 5 S H 42,000 0 42,000
OFIIXH(THA) 42,000,000 = 1CH 42,000




20223 = =0 &b LS &H

St
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ljs

FO 01 HN
OF 0K
H e
> > ok
oz
Mo Ho

02 08

25 QAT N2

Ol &b A

Al

SA BB O () - MM - HES il
CHRBUSSER 2882 3,717,776 3,962,347 A 244 571
= 140,740
< 123,268
Al 3,453,768
SN2 2 1,792,068 2,150,245 A 358,177
= 52,898
Al 1,739,170
LETHR 29 588,037 586, 341 1,696
< 52,898
Al 535,139
LEENE NEES 149,803 148,319 1,484
201 L2l 53,683 61,919 A 8,236
01 At &2l bl 53,683 61,919 A 8,236
OLEZ N2 HI|2HH 16,528
Os%X 15,000 * 15JH AL » 12& 2,700
OXI&X 13,0002 * 1094 AF * 122 1,560
O=2tX 5,000& * 110 AL * 523 2,860
O&32tX 11,0002 » 4404 At » 12 5,808
(OFSPNFE-= 30,000& = 108 ~ 12& 3,600
OSHE N2 =32t 2= 8,408
O=2tX 5,000& * 10JH Ab * 523 2,600
O&2HX 11,0002 * 4404 At = 1228 5,808
otEs M2 =2 2= 2,488
O=2tX 5,000 * 5IHAb * 523 1,300
O&32tX 11,000& * QAL = 12& 1,188
OZUHENZ =EH2HK 2= 4,452
O=2tX 5,000 * QM AF * 523 2,340
O&2tX 11,0002 * 1600 AL * 12 2,112
O=2dE N2 FE2HX 2= 4,452
O=2tX 5,000 * QAL * 523 2,340
O&2HX 11,000 » 160 AL » 12& 2,112
ONZ=ENMZ FEH2UHX 2= 8,668
O=F2tX 5,000& * 11JHAF * 523 2,860
O&32tX 11,0002 * 4404 At = 122 5,808
oor=2 =4l 1,220& = 7,12004 8,687
206 M= Hl 7,120 6,400 720
01 =8l 7,120 6,400 720
OENME2ES 7,120
ORFID TAG 500 = 7,12004 3,560
OcteEsXs 108 500& = 7,1204 3,560
405 THabH S| 89,000 80,000 9,000
02 =M=l 89,000 80,000 9,000




SN CNRBASSEE QBTN
HY: ZRCNB 29
QT HE 2d

SA-EB B (BH) - MRAY - B 0 4t 04 il 2t
O AM 89,000
OLHE A 12,500& = 6,080 76,000
OMGELE NI & M 12,500& = 1,040& 13,000
CETAS BT 2A 69,238 9,675
201 et A b 63,738 8,175
01 AFR2t2ldl 6,300 125
OSsAz 2 HE 19,000& = 2005 3,800
OSSN E 2,000& = 7505 1,500
OEAN2 EE= 2,000& x 5008 1,000
02 33249l 1,878 0
OMEESsIPAHAAALH S22l
156,500& = 12& 1,878
03 HAFS S HI 55,560 8,050
OsSAMAMIsE ]S 29 24,600
OB A=Y
35,000& * 2A12t = 150 8F * 123] 12,600
ontsssid s2AME 1,000,000& = 43| 4,000
OM&esgssH 89
35,000 * 2A12t = 43 = 128 3,360
OZScHIHte M= 70,000 * 1204 840
Ox=& &dJlsd 500,000& * 43| 2,000
OEz ) H 29 =22 300,000& = 63| 1,800
OsSAMsS0lel =4 4,110
Oo=dE +g
35,000& * 2A12F x BIHEL x 63 3,360
OEEE T AN&N7Y 12,500& » 68 *» 10& 750
O =28 HAEY 21,000
O9ol28 HAEY M= 20,000,000 * 13 20,000
OsxsZz)d 29 500,000& * 23] 1,000
O23It Ye ¢ 500,000& * 43| 2,000
O M&F2 &AL 850,000& * 13 850
OSAHY &AL 1,000,000& = 13 1,000
oOsSMBHZ 2,000,000& * 13 2,000
203 ¥ R =&H| 2,000 0
03 A=A SR =AH| 2,000 0
OENM& RN 2,000,000& 2,000
301 et X = 2,000 0
09 #HALAHI X &= 2,000 0
O2stZTZ2 )8 XNISALA =&Yl
8,000& * 10¥ * 253 2,000
405 XH&HFE S| 1,500 1,500
01 JHAtY = ZF SHI 1,500 1,500




SN CARBMSSEE QST
M BTCHY 29
el 2STHE 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OLES 1,500,000 = 1CH 1,500
CETAS NS 2 23,340 23,728 N\ 388
201 et A H| 5,600 5,988 N\ 388
01 AR 22l ] 3,350 3,193 157
O AMZ OSSOt 2IE2 2,000& * 1,000% 2,000
ON= T AHZUS FIHHI
100,000& « 104 = 13 1,000
OXN=H2I/AIZ A=<
100,000& * 1Y = 23| 200
OXNIESAA E2 E2 15,000& * 10Y 150
02 3524t 2,250 2,795 N 545
Ogo3eegd=a 2,250
Oet=2T A& (22) 360,000 = 1o & 360
Ost=2Z A2(33) 115,000& * 62 690
OZ2Z2Z A2 (BEZ) 300,000& = 1o & 300
OZ2Z2T A2 (CEZ) 150,000 = 6IH & 900
206 M = Hl 13,580 13,580 0
01 X2t 13,580 13,580 0
OHE3AS 5,800
ousote 1,500& = 3,0004 4,500
Oateel & 80,000& * 152 1,200
Odle3acely 10,0008 * 102 100
OAItE SHE 3,000& * 1004 300
OEM E=Z2 HE 150,000& = 22 300
ORFID TAG Ex=2 500& = 1,000H 500
OXNsUHEEIE) 945 21
3,000& x 1002 300
OA=E J|e8A 20,000& * 204 400
OXZ A AFQIAIAEYS 100,000& * 4004 4,000
OXzZ A& PC 29 XM 580
Odl el 35,000& = 8IH 280
[OFI== 15,000& * 104 150
(@] I R==S 15,000& * 109H 150
OZHM BHUH Y 100,000& = 64 600
O 28| 40,000& = 204 800
301 et M= 4,160 4,160 0
09 HAIAHI X2 4,160 4,160 0
OXNIEANK Ss4H|
20,000& = 2% x 104< 4,160
HF 0l0ldE g9R0sMHSS 264,490 273,500 A 9,010
= 52,898
Al 211,592




SN CARBMSSEE QST
B RIZCHT 29
Sel: QBTN 2Y (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 Le-2d| 83,610 90,500 26,890
< 16,722
Al 66,888
01 At 22l 36,300 36,300 0
OHANEE 34,500
Os2s MZ 2,000& = 8,000 16,000
= 3,200
Al 12,800
od=g 228 MF 7,000& = 50004 3,500
< 700
Al 2,800
Olid=zse 3,500,000& = 4JH At 14,000
< 2,800
Al 11,200
ocgsitzd 10,0002 *» 1002 1,000
< 200
Al 800
OZSNMEZERASE dA=E 100,000& * 8%H 800
= 160
Al 640
ONUE 015 U XY MEEES=Y
500,000& * 28 1,000
< 200
Al 800
03 A2 Z Hl 47,310 54,200 A 6,890
onesI =4 2,680
ONEEsIt U= 70,0002 * 243| 1,680
< 336
Al 1,344
ON2esIt /I35 &L 24Es
500,000& * 23| 1,000
< 200
Al 800
OusZz ) dH 2Y 35,520
ORZuUsE M2t EZ 500,000& = 63l 3,000
< 600
Al 2,400
O#=0l Z20Y
70,0003 * 1471 EF » 243 23,520
< 4,704
Al 18,816
O3ss0ts0tel E& 70,000& = 203l 1,400
< 280
Al 1,120
O#=0l T2 2 M=l
200,000& = 14JHEH » 23] 5,600
< 1,120
Al 4,480




2N
X ZH -
L= B

el

FO 01 HN

Negystses 9
ZTNB 29
STHB 29

OF

H

x

1=

SN HH-S(BN) - MBAY - B il HlnE2
O3s=s0tso0tel 22 M=4l 2,000,000 2,000
< 400
Al 1,600
ONEF1EH=SMHS=H izl 9,110,0008 * 13 9,110
< 1,822
Al 7,288
206 M= Hl 168,000 168,000 0
= 33,600
Al 134,400
01 =8l 168,000 168,000 0
om0 2 168,000
O&A 10,000& = 2& * 6,0000H 120,000
< 24,000
Al 96,000
oot 8,000& = 6,00004 48,000
< 9,600
Al 38,400
301 LPEXS 12,880 15,000 AN2,120
< 2,576
Al 10,304
09 HALAHIXI &S 12,880 10,880 2,000
OHAI2YE AESALX =&l
8,000& = 30¥ « 123l 2,880
= 576
Al 2,304
ONAESIH &Hl XA
20,000& = 259 « 203l 10,000
< 2,000
Al 8,000
LEENE NEES X2 81,166 81,231 A 65
101 124 dl 58,096 60,458 N2,362
04 JIZHHZ2XREE S 58,096 60,458 N2,362
O&FA EHE E= 54,598
Ol 2| 81,3403 = 2% = 26 » 12& 50,757
OZEFOtHI 200,000& = 2% * 23| 800
O=XNEQUE 300,000& » 29H 600
O¢ItE &I 81,340& * 29 « 15¢ 2,441
o4 28z JI2R2E3 3,498
OCHZEBEE 53,998,000& * 3.43% 1,853
OWIAYEEE 1,853,000& * 11.52% 214
(@IE=30=: =1 53,998,000& * 1.65% 891
OttEdg = 53,998,000& * 1.00% 540
201 2Bt | 22,190 20,773 1,417
01 At 2teltl 21,160 20,103 1,057
OR21&Hl AlAH 300,000& = 12& 3,600




SN CNRBASSEE QBTN
HY: ZRCNB 29
Sl QBT AB 29 (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
O - =401 9x= 40,0008 » 408 » 128 1,920
OBIIHEI| LMD 45,0002 * 1004 » 128 5,400
CEEImE= g 1,610
OB2IIZ ALK 200,008 * 7L 1,400
O52I eEB2AR 30,0008 * 7% 210
OHANBRIEE 50,0008 * 5% 23] 500
OFA U HABE 100,008 * 65 * 128 7,200
oY 24 252 16,5008 * 208t A 330
OMAS)| £2E 7Y 300,0009 * 2CH 600
02 2zl 1,030 670 360
OAoIFE 2 E Sl Y| 50,0008 * 7% 350
ogeasIl SXBL
60,0002 * 1CH * 63 360
CELER-PN 8,0002 * 401 320
405 THaHE S b 830 0 880
01 AU 2B H St 830 0 880
CENT Y Bb] 880,0002 * 1CH 830
e ETE 267,246 227,174 40,072
NRACAZ HREE 44,160 82,087 A37,927
201 Lyt | 3,660 10,537 ~6,877
01 AL 2reltl 3,660 10,537 £6,877
CHEEETT 1,208 * 3,0000H 3,660
206 T & 3,000 5,300 £2,300
01 HE Yl 3,000 5,300 ~2,300
OEMHRISE 3,000
ORFID TAG 5002 * 3,0000H 1,500
OAUEBXES 95 5002 * 3,0000H 1,500
405 THAHH St 37,500 66,250 £.28,750
02 SH T 37,500 66,250 £.28,750
Gl 37,500
oY s A 12,5002 * 3,000 37,500
HRACAHZ 232208 29 21,560 39,940 A 18,380
201 L2yl 21,560 36,840 A 15,280
01 Ak 2relt| 4,000 2,850 1,150
OSHLZH 2,0008 * 1,0002 2,000
OZHZ 222 2,0002 * 1,000% 2,000
03 B At 2 bl 17,560 33,990 16,430
OSHEsZ2IY 29 11,450
OB A
35,0002 * 2AI2 * 15)H8H * 103 10,500




SH CHBEMSSEE QBTN
M BDCHY 29
el HESHERY (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OZeate M2 70,000 = 5J4 350
oZz ) 29 23 300,000 * 23| 600
O=EME0te 4 4,110
o=wE +g
35,000 = 2Al2F = 4JHEE « 123] 3,360
OEES TA7Y 12,500& * 12& * 53 750
OEELUANLTH(UEEY) 500,000 * 43| 2,000
NSNS s 29 10,380 23,090 N 12,710
201 LBt | 2,060 2,470 AN410
01 AP 22| d| 2,060 2,470 A410
oZzly EY 230,000 = 8JH 1,840
O=2AEX 22,000& = 108FA 220
301 et A= 8,320 8,320 0
09 HAIAHI X & 2 8,320 8,320 0
OXEESALAH ESAlHl 20,0008 = 8% * Hh2Y 8,320
NN AE=s K22 66, 146 82,057 A 15,911
101 2121 H] 58,096 60,458 N2,362
04 JI2ZtHIZ22NEE S 58,096 60,458 N2,362
OFHA EEA B4 54,598
oerAgl 81,340& * 2% « 262 * 12& 50,757
OY &SI 200,000€ * 2% « 23| 800
OEXEQAE 300,000 = 2H 600
Od IS A H| 81,340 x 28 « 15 2,441
O40 Eg 2 J|Ia82=2 3,498
OHLEE= 53,998,000& * 3.43% 1,853
OMIAESE = 1,853,000& * 11.52% 214
[@IE=3"h= N 53,998,000& * 1.65% 891
ONEsg = 53,998,000& * 1.00% 540
201 et d| 7,170 21,599 AN 14,429
01 AFR 2t 2| bl 7,170 21,599 N 14,429
OReldH AlAH 300,000 ~ 6 1,800
O - 240 AdXs 35,000 = 6t » 6 1,260
OZ2J/8&)| Xz 45,0008 * 130 ~ 68 3,510
OHAE)| AR2E ¢ 300,000 = 2CH 600
405 XH&k5 S| 880 0 880
01 XA 2B F S| 880 0 880
OR MY EH A 880,000& * 1CH 880
HEEHZ 22ey 125,000 0 125,000
201 et d| 125,000 0 125,000
01 A2t 2| bl 125,000 0 125,000




-

SA: CADABEMEESER QBT M2
HM: ZZCND 29
chel: NRCAZ2Y (e
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | ONACT MNP 22 0l&Y] 125,000, 000€ 125,000
s NRSY 298,531 267,130 31,401
ECUCND RHE2HE 85,515 82,042 3,473
201 LBt2 A 10,995 10,492 503
01 AL 22/ H] 10,995 10,492 503
oFJIZHgE 1S 4,260
O=YX 15,0002 * 15JH At * 122 2,700
OX X 13,0002 * 10JH At * 122 1,560
ClEEE] 1,22090 * 5,5200H 6,735
206 TH 2l 5,520 5,300 220
01 HEHI 5,520 5,300 220
OZANHe2 22 5,520
ORFID TAG 5002 * 5,5200H 2,760
Ot#EIs 105 50090 * 5,520H 2,760
405 RHAHE SH 69,000 66,250 2,750
02 &M 69,000 66,250 2,750
0O%A 69,000
OLBtE A 12,5002 * 4,6402 58,000
O teteHl & A 12,5002 * 8802 11,000
ST 2T 29 64,775 43,075 21,700
201 LBt A 43,975 41,475 2,500
01 AL 22/ H] 3,000 2,850 150
OSH-23 2,000 * 1,000% 2,000
OZNH B2 2,0009! * 5005 1,000
03 A2 40,975 38,625 2,350
ENRSEZIY 29 24,860
LAt g
35,0002 * 2A12F * 244 Bt « 123 20,160
OZotE M= 70,0009 * 10 700
OX=% FIIZ 500,0008 * 53 2,500
OZZIY 29 22 300,0008 * 53 1,500
O=ENESO0tel |4 1,215
O=UE £¢
35,0008 * 2AI2t = 24t « 63 840
OEE28 TATY 12,5008 * 55 * 6% 375
OSEAANLTL(U2EL) 500,0002 * 33 1,500
OST M B2 A 1,000,000 * 13 1,000
OSAMoY A 1,000,0002 * 13 1,000
OSMHHZ 1,000,000 * 13 1,000
OMOIHAHOIA 2% 10,400




SN CARBMSSEE QST
M ZDCHY 29
ciel: ESCNERY (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OB A=g
35,000& * 2A12t = 12J48F * 103] 8,400
OEEZ H& 2,000& = 1,0007H 2,000
301 dEtE X = 800 1,600 A 800
09 #HAIAHI X &= 800 1,600 A 800
O2Z=z 18 XAASALA S S|
8,000& * 10¥ * 103 800
405 XtabFE SHI 20,000 0 20,000
01 AL 2B F SHI 20,000 0 20,000
OMOIH T2y DY WH(6E) 20,000
OO0IolaZ2HIE, 02 =+ 68,000& * 1504 1,020
OFRLIZE 3 110,000& * 1504 1,650
O2t0l=2 Wol w=+ 1,650,000& * 2N E 3,300
S2E2 W7 AZWHIIX
1,315,000& * 2MHIE 2,630
ORBE=Z0E W3 520,000& = 1504 7,800
OHlEEE W4 240,000& = 1504 3,600
SEHCANZ LY 29 39,848 33,559 6,289
201 Bt H | 1,530 1,559 N 29
01 AP 22l Yl 1,530 1,559 AN 29
oZelH EY 210,000& * 54 1,050
O= A EY 260,000& = 1JH 260
O=Z2AEX 22,000 * 102+ A 220
206 M= Hl 17,400 17,400 0
01 &2 bl 17,400 17,400 0
otssads 6,800
osEate 1,500& = 3,0004 4,500
Ooteelz 80,000& * 252 2,000
odleE3aecy 10,000& * 302 300
OMIIE sSHE 3,000& * 4004 1,200
OEM B2 HEY 150,000& = 202 3,000
OXNsUHEEIY) g5 X
3,000& = 4002 1,200
OAI2& I|2tA 20,000& * 404 800
OXZ &l AFOLAIAEY 100,000& * 4094 4,000
O8] 40,000& = 1004 400
301 et X Z 10,400 10,400 0
09 HALAHIXI &= 10,400 10,400 0
OXNIEAMNK Es4H|
20,000& » 58 x 104 10,400
405 XHaHF S| 10,518 4,200 6,318




SN CARBMSSEE QST
M ZDCHY 29
SE R EEPEEE EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 At =S FSHI 10,518 4,200 6,318
O&JIZHZA JIASTLZSE AMY
500,000& * 1JH 500
OZTEAzd #HAS) 7,678,000& * 1JH 7,678
OCIXE oIsXs 2o Xt 117,000& = 2004 2,340
SEEC A2 AIESS X 22 108,393 AB1
101 2124 1| 87,143 AN 3,859
04 JIZtHI22NHEE 87,143 N 3,859
OFA EEA EH 81,896
OolAd| 81,340 » 3% * 26 * 12& 76,135
Og &=yl 200,000 = 3YH = 23| 1,200
OsX=EQE 300,000& = 3Y 900
OH I A 81,340& » 38 x 15 3,661
O4lEE E Jl&a8g=3 5,247
OA&dEE=Z 80,996,000& * 3.43% 2,779
OIRLUYESE=2 2,779,000 * 11.52% 321
onggss 80,996,000& * 1.65% 1,337
OXtHeEsEZ2 80,996,000& * 1.00% 810
201 et A | 20,370 2,918
01 AFR22t2ldl 20,370 2,918
OR01AHH AlAE 250,000& = 12& 3,000
O - 240 LdXs 30,000& * 404 » 12& 1,440
O3JI&88)| dxs 45,000 * 10CH = 12& 5,400
OFANZ2IES 50,000& * 8& * 13| 400
Ost&Ea ¥ HAES 100,0008 » 65 + 128 7,200
od -2 SEH 16,5008 * 202k A 330
OXz= &l AIIE = 2,000,000& * 13 2,000
OMAZ) A2FE F2¢ 300,000& = 2CH 600
405 XHabF SHI 880 880
01 A&t =S F SHI 880 880
O AEI 2 H A | 880,000& * 1CH 880
MESTAZ22Y 92,472 8,816
MESTAHE NS22S 35,692 229
201 Yet2 | 4,642 229
01 AP 2t 2l Yl 4,642 229
OFJIIZHZE PS5 1,836
OsLX 15,0003 * 40 A * 12& 720
ORI 13,000& * 6IHAF = 128 936
ootsd & 5,000& * 3IHAF » 12& 180
ootz x=d| 1,220& = 2,3004 2,806




> 01 N
Mo o0 =
o e
> o
x 0z
Mo
08

Jo
]S
r
i
0]
Of
H
x
il

I
M0
02

SA-EB B (BH) - MRAY - B il 2t
206 M = Hl 2,300 2,300 0
01 & bl 2,300 2,300 0

OEANE2ES 2,300
ORFID TAG 500& = 2,300H 1,150
Ooctegsixs 10 500& = 2,300H 1,150
405 XH&HF S HI 28,750 28,750 0
02 &M+ H| 28,750 28,750 0
O= A 12,500& = 2,300 28,750
SESCAE STz )H &4 24,580 23,060 1,520
201 Bt A H| 23,620 22,100 1,520
01 AFR2t2l bl 1,200 760 440
OsSME2E 2,000& * 6005 1,200
03 S AtS H b 22,420 21,340 1,080
OSHMRIE)H 2 15,860
O2A=E
35,000& = 2A12t = 150 BF * 123] 12,600
OZScHIte M= 70,000& = 8JH 560
Ox=d dJlsd 600,000& * 33 1,800
OEzH 29 =23 300,000& = 33| 900
OsAsote &4 560
O=HE =&
35,000& * 2A12F = 1JfEF x 83 560
OSg2ZANFH(E2EDY) 500,000& = 43| 2,000
O M2+ &AL 1,000,000& = 13l 1,000
OSAHoY At 1,000,000& * 13 1,000
oOsSMBHZ 2,000,000& * 13 2,000
301 et X Z 960 960 0
09 HALAHIXI &= 960 960 0
O2sZ==z 0¥ XNIFSALA S|
8,000& * 10¥ * 123 960

NSNS NS a 29 19,955 14,906 5,049
201 LEt2 Y| 1,710 1,711 A1
01 At 22l Yl 1,710 1,711 A

oZeglH EY 210,000& * 404 840
O=AI EY 260,000& = 1JH 260
O=EAEX 22,000 * 58 A 110
O=2AMI &Y 500,000& * 1JH 500
206 M = Hl 5,675 4,875 800
01 24l 5,675 4,875 800
OUHEIS 2,850




CHRBMSSES Q8T A
ZZHE 29
NESCH22Y
SA BB O () - MM - HES 0l &+ o4 il
OUsE3tE 1,500& * 1,00004 1,500
OJteelz 80,000& * 158 1,200
Osl&e3aauy 10,0002 *» 158 150
OMItE SHE 3,000& * 60JH 180
OEMd B8 150,000& * 58 750
Oz & AFQTAIA 100,000& * 104 1,000
OXsUH=EEtE DI 3,000& » 1008 300
OXZ4 PC 2 195
OdlEA 35,000 = 30H 105
O2I18E 15,000& * 3K 45
OobteA 15,000 = 30H 45
(OF= =31 9] 40,000& = 104 400
301 LEEAF 8,320 8,320 0
09 HALAHIXI &S 8,320 8,320 0
OXNESALA &S Al
20,0003 * 49 » 104« 8,320
405 RHoHE S HI 4,250 0 4,250
01 MetL S =3 S| 4,250 0 4,250
O A6 Dt 400,000&  1CH 400
OEMEAIE Mt 3,850,000& « 1CH 3,850
MESTAHE AMEEFA 22 12,245 10,227 2,018
201 LB-2d| 11,365 10,227 1,138
01 AR 228l 11,365 10,227 1,138
O=RAHl AIAE 250,000& = 12& 3,000
od - 2=+J| ditz 25,000 = 3CH » 12& 900
O3J1¥&F)| gz 45,000% * 5CH = 128 2,700
OEMZEES 50,000& = 88 * 13l 400
Ost&Ea & FAES 100,000 » 38 » 128 3,600
od . - =2=J 854 16,5003 » 102 A 165
oO¥A=sI ABE 7Y 300,000& =« 2CH 600
405 XHoHF S HI 880 0 880
01 XL 2 ZF S| 880 0 880
O A E R M| 880,000& =« 1CH 880
ZUHEN2 22 110,191 104,750 5,441
ZUHEAS H=2EE 43,291 39,870 3,421
201 LBt2E | 6,571 7,470 A 899
01 At 22|l 6,571 7,470 A 899
oFJItHEE 2= 3,252
Oos2X 15,0002 * 129 At = 122 2,160
OX X 13,0003 = 70HAF = 128 1,092




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oot=a =4l 1,220 = 2,720¢ 3,319
206 M = Hl 2,720 2,400 320
01 M= bl 2,720 2,400 320
OENE2ES 2,720
ORFID TAG 500& = 2,7200H 1,360
Ooctgsis 108 500& = 2,7200H 1,360
405 XtabF S| 34,000 30,000 4,000
02 S AT 34,000 30,000 4,000
oM 34,000
OLBEE A 12,500& = 2,400 30,000
O gretst | & A 12,500& * 320 4,000
Z2UHEAM2 S3E ) 29 29,160 28,800 360
201 Yet2 b 27,560 27,200 360
01 AP 22l Yl 4,000 3,800 200
OsSMNML2E 2,000& = 1,000% 2,000
OENZ EEBE= 2,000& = 1,000% 2,000
03 At L ] 23,560 23,400 160
OsSHMEsE)dH 29 16,280
O2Z A=
35,000& * 2A12t = 18I Bt * 123] 15,120
OZdote 70,000& * 8JH 560
OoZEz)dH 29 23 300,000& * 23] 600
OFEBHAHSZZ )& 1,980
[OFPNE=
35,0002 * 2A12F = 2JHBE * 123] 1,680
OEz)dH 29 22 300,000& * 13 300
OSASsOtel =SHE =
35,000& * 2A12F = 1JHEF % 103 700
OSg2ZANFH(NE2EY) 500,000& * 23] 1,000
O M&F2 &AL 800,000& * 13 800
O= MY A 800,000& * 13 800
OsSMNz=Z 1,000,000& * 13 1,000
O=3d0l&E MHIA 1,000,000& = 13l 1,000
301 et X = 1,600 1,600 0
09 HALAHI X &= 1,600 1,600 0
O=2ZT=z 18 XAJASALA S &I
8,000& * 10¥ * 203 1,600
BUEHD HESFA 29 22,260 22,209 51
201 et A | 1,530 1,559 A 29
01 AFR2 2t 2l Yl 1,530 1,559 A 29
oZelH EY 210,000& * 54 1,050




x

1=

SHRABMSEEY 25C
2T 2Y
AUCHE 29

S B G(SA) - NRANY - BES il 2
O=AMI EY 260,000& = 14 260
O=AEX 22,0003 » 102 A 220
206 M= Hl 8,250 8,250 0
01 =8l 8,250 8,250 0
oOU=Ezas 3,150
OUsEate 1,500& * 1,50004 2,250
O3teel& 80,000& * 102 800
OslE=aecld 10,000& 108 100
OMIIE SHE 3,000& = 3004 900
OEAM B8 HY 150,000& * 28 300
ONnsSUHEEEI I+ EX
3,000& = 1002 300
OAESE I A 20,000& = 104 200
OXZ Al AFQIAIAE 100,000& * 204 2,000
Oz d PC 2 Tt 500
Odl EA 35,000& = 104 350
O218E 15,0002 * 54 75
Oots A 15,000& * 5K 75
O EH| 40,000& = 1004 400
oOdEZHEE 10,0002 * 504 500
301 LEEAZ 12,480 10,400 2,080
09 HALAHIXI &= 12,480 10,400 2,080
OXNESAX &4
20,000& = 6% * 104 12,480
ZUHENZ AIESR A2 15,480 13,871 1,609
201 ¢er24| 14,600 13,871 729
01 At 22l 14,600 13,871 729
OSelZHl AlAE 200,000& * 123 2,400
od - 27 dx= 30,0003 = 304 » 123 1,080
O3J18&FJ| gz 45,000 = 500 * 123 2,700
ONMsIl dXz 50,0003 = 104 » 123 600
ol gx= 30,000 = 4CH = 128 1,440
OBMZLIES 50,000& * 88 * 13 400
Oztaa & HAES 100,0008 * 45 « 128 4,800
od - 2=+J 54 16,500 * 208t A 330
(OFSFSETISIR=2 50,000& * 58 12l 250
MASI| 228 2 300,000& * 2CH 600
405 TtabF S| 880 0 880
01 AL ESFH SH 880 0 880
O LIS HI I 880,000& * 1CH 880
AENZ2E 119,974 107,863 12,111




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
SMEANZ NS ES 39,831 37,651 2,180
201 Bt H | 5,811 6,601 AT90
01 AP 22l Yl 5,811 6,601 A 790
OFJIILHE PS5 2,736
OsLX 15,000& * 10JHAF = 12& 1,800
ORI X 13,000& * 6IHAF = 128 936
oo zax7=4l 1,220& = 2,520 3,075
206 M = Hl 2,520 2,300 220
01 M= bl 2,520 2,300 220
OENE2ES 2,520
ORFID TAG 500& * 2,5200H 1,260
Octd sk s 105 500 * 2,5200H 1,260
405 X+HoHF SHI 31,500 28,750 2,750
02 & A7 31,500 28,750 2,750
O M 31,500
OgutE A 12,500& * 2,200 27,500
OMGEtE M & M 12,500& * 320& 4,000
SMEAS ST 2H 21,330 20,996 334
201 et A | 20,530 20, 196 334
01 AR 22| 4,000 3,800 200
OsSAEZE 2,000& = 1,000%8 2,000
OENZ EE= 2,000& = 1,000% 2,000
03 S AtZ L I 16,530 16,396 134
O=SNESE 1Y 29 11,340
Q2 A=
35,000& * 2A12F = 13JHEF * 123] 10,920
OZScHIte M= 70,000& = 64 420
OFBFAANSEIZ N H 2,890
O A=
35,000& * 2A12F = 3OHEF * 123 2,520
OZcHIte M= 70,000& = 1JH 70
OoZz)dH &9 23 300,000& * 13 300
SN (AIE2EDY) 350,000& = 23| 700
O M 2=2t SHA 800,000& * 13 800
OSAHoY At 800,000& * 13 800
301 dEtE X = 800 800 0
09 HAIAHI X &= 800 800 0
O2Z=z 18 XAJASALA S &l
8,000& = 5¥ * 203 800
SHTHE R2ITA 29 19,265 10,314 8,951




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
201 Bt A | 1,530 1,559 A 29
01 AP 2t 2l Yl 1,530 1,559 A 29
oZelH EY 210,000& * 54 1,050
O=AIl EY 260,000& = 1JH 260
O=2AEX 22,000& * 102+ A 220
206 M= Hl 4,595 4,595 0
01 X2 bl 4,595 4,595 0
OUERS 1,950
ousate 1,500& = 1,0004 1,500
Ooteel= 80,0008 * 52 400
odle3acely 10,000& = 58 50
OMIIE sSHE 3,000& * 200H 600
OEM B2 HEY 150,000& * 22 300
ORFID TAG B4+ 2 500& * 5004 250
oONsU=Eetd) =3 X 3,0008 * 502 150
OAIZ2& |2t A 20,000& * 54 100
OXZ &l AFOLAIAEY 100,000& = 34 300
OXza PC 29 XM 325
(@) E=sl 35,000& * 54 175
(OF]E=1= 15,0008 * 504 75
oA 15,000& = 54 75
OB 40,000& = 34 120
ONZH=E 10,000 * 504 500
301 YU BHZ 6,240 4,160 2,080
09 HAIAHI X &= 6,240 4,160 2,080
O XS AKX 2SS4l
20,0003 * 39 = 104 6,240
405 XHo&HF S HI 6,900 0 6,900
01 AL =SB F SHI 6,900 0 6,900
OXrg &l At 6,900
Ose Nz a NIt 1,450,000& = 44 5,800
OXgea Mot 550,000& = 24 1,100
SNMEAZ AESR A2 39,548 38,902 646
101 @121l 29,053 30,337 N1,284
04 JI2ZtH 22 XNEE S 29,053 30,337 N 1,284
O&FA FEE B 27,300
Ool2t] 81,340 » 1Y = 262 * 128 25,379
(@F=FSE=l 3] 200,000 = 1H = 23] 400
O=2XNEIUE 300,000& * 1H 300
O I &t 81,340& ~ 198  15¢ 1,221




CHRBMSSES Q8T A
TTCHB 29
SMcHERY SREED
HH .ol (AH) - NSAY - By il 2
O4Eg = JIaR2E3 1,753
OFaRz gk = 1= 27,000,000& = 3.43% 927
OFIQYEER 927,000& * 11.52% 107
(@FE=230= =1 27,000,000& = 1.65% 446
OB = 27,300,000& * 1.00% 273
201 L2l 9,615 8,565 1,050
01 At 22l 9,615 8,565 1,050
ORI &H AlAH 200,000& = 12& 2,400
od - 2=+J| ditz 30,0003 = 3CH » 123 1,080
O3J18&¥)| dxtz 45,0002 * 3CH = 128 1,620
O&EMZRES 50,000& = 98 =« 33l 1,350
Ostaa & HAEZ 100,0008 * 2& * 128 2,400
od . - 2=2J =5 16,500& » 10 A 165
oOXA=sI ABE F7¢ 300,000& =« 2CH 600
405 XHoHE S HI 880 0 880
01 et EZFH S 880 0 880
O A =M A 880,000& = 1CH 880
=2 29Y 315,617 249,231 66,386
2N R2Es 155,235 127,303 27,932
201 L2l 22,395 19,303 3,092
01 At 22l 22,395 19,303 3,092
oFJItdE 2= 7,860
OosdX 15,000& » 15JH AL » 123 2,700
OXI&X 13,0002 * 109HAF » 12 1,560
(OFSPNRNE-= 30,000& = 108 » 12& 3,600
O2da SJAMHA A2t 0l8=
2,530,000& * 13l 2,530
ott=2 =4l 1,220 * 9,8400H 12,005
206 M= Hl 9,840 8,000 1,840
01 =8l 9,840 8,000 1,840
OENECES 9,840
ORFID TAG 500& = 9,840 4,920
OcteEsXs 105 500& = 9,84004 4,920
405 XHoHF S HI 123,000 100,000 23,000
02 =M=l 123,000 100,000 23,000
O&AM 123,000
OgEtEA 12,500& * 8,800 110,000
OXMZBHE M T A 12,500& * 1,040& 13,000
22 M2 22208 293 49,330 23,670 25,660
201 L2l 47,730 22,070 25,660




SN CARBMSSEE QST

M DDA 29
Sl NZLCHB 29 CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 4,000 3,800 200
OsSAEZE 2,000& = 1,000%8 2,000
OCNZ EE= 2,000& = 1,000% 2,000
03 HALS H b 43,730 18,270 25,460
SENSEZNHSA 25,710
RANESS=
35,0003 * 2A12F = 24J Bt = 123 20,160
OSdHIte M= 70,000& * 1504 1,050
Ox=d dJlsd 500,000& * 63 3,000
OEz ) H 29 =23 300,000& * 53] 1,500
O=sMds0tel =4 4,020
OsHE ¢
35,000& * 2A12F = 30HEF * 123] 2,520
OEEE TAN7Y 12,500& * 128 = 10& 1,500
OCIZ2N=2ANE 29 2,500,000& =* 43| 10,000
O A 22t A} 1,000,000& = 13 1,000
Os MY A 1,000,000& = 13l 1,000
OSNBZ 2,000,000& * 13 2,000
301 dEtE X = 1,600 1,600 0
09 HALAHI X &= 1,600 1,600 0
O2Z=z 18 XAJASALA S &l
8,000& * 10¥ * 203 1,600
24N NS 29 27,970 36,097 NB,127
201 et A | 4,020 4,047 N2T7
01 AFR22t2l Yl 4,020 4,047 N2T7
oZglH EY 210,000& « 104 2,100
OZ2AI] EYH 260,000 = 44 1,040
O=EAEX 22,000& * 402t A 880
206 T2 HI 13,550 16,050 2,500
01 M= bl 13,550 16,050 A 2,500
OUHE3dS 6,200
ousste 1,500& = 3,0004 4,500
OJteel 2 80,000 * 202 1,600
Odle3aely 10,000& = 102 100
OANItE SHE 3,000& = 1004 300
OEN B8 H Y 150,000& * 102 1,500
OXNSUEEE) 95 X
3,000& x 3002 900
O XS Al AFQIAI A& 100,000& * 307K 3,000
OXza PC 29 XM 650
odleA 35,000& * 1074 350
O2I1BE 15,0002 * 104 150
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CEH SR (BH) - NBAY - B2 o A o SSa H RS2
oA 15,000 = 1094 150
O&EHM HHUACH 100,000& = 24 200
O 28t 40,000& * 20CH 800
301 deEtE X = 10,400 16,000 A5,600
09 #HALAHI X &= 10,400 16,000 A5,600
OXNIEANX Es4H|
20,000& * 59 = 104 10,400
223 A=A 22 83,082 62,161 20,921
101 @124 53,587 43,355 10,232
04 JI2ZtH22XNEE =+ 53,587 43,355 10,232
OFAX JI2ZNIE2X B 48,286
(@)siFals] 73,2803 * 2% x 26 » 12& 45,727
OY &SIyl 200,000& * 2% * 23| 800
OH I &t 73,2803 x 2% x 12¢ 1,759
O4l) B8 J|AEE2 5,301
O=01Hz 48,286,000& * 4.5% 2,173
oAnzdEBE=2 48,286,000& * 3.43% 1,657
OIRLYEE=Z 1,657,000& * 11.52% 191
onggEss 48,286,000& * 1.65% 797
OtHEE Z 48,286,000& * 1.00% 483
201 LEt2 Y| 27,495 18,806 8,689
01 AR 22| I 27,495 18,806 8,689
ORo1dHl AAE 300,000& = 12& 3,600
od - 247 Xz 45,0008 = 504 x 12& 2,700
O3J|1&83&8) Xz 50,000& = 9§ ~ 128 5,400
onld ¢xtz 25,0008 = 804 » 12& 2,400
OFANA2ES 50,000& * 8& * 23| 800
Ost&a & HAEE 100,0008 * 885 * 128 9,600
od - -2 SEZ 16,5003 * 302 A 495
oONAMAZIZEE 50,000& * 4& * 23] 400
ogztarol 30,000& = 500H 1,500
HAS)| 228 2 300,000& * 2CH 600
405 XHaHF S| 2,000 0 2,000
01 At = S F SHI 2,000 0 2,000
O3HE OlsE XA QX 40,000& * 5004 2,000
HHSHAH (A HMUSIEEE 25T A2 1,925,708 1,812,102 113,606
= 140,740
& 70,370
Al 1,714,598
ol 2AHY| 1,556,987 1,476,579 80,408
= 140,740
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B BHLARU(CHRBMSSER Q8T H)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 70,370
Al 1,345,877
[Slals] 1,079,424 740,138 339,286
101 @121l 952,669 740,138 212,531
03 2LE(RIHS) 22 XHE L 952,669 740,138 212,531
OMA BRE B 47,576
oJlesuaz) 2,761,880& » 14  12& 33,143
o254 138,090& » 1Y x 12& 1,658
O&d=Y 50,000& ~ 18 « 12& 600
Ox=m=2R 423,280 * 14 = 128 5,080
O&F M= A 140,000 ~ 198 » 12& 1,680
OEx&RE 30,000& + 1 » 12& 360
Oons< 20,000& * 18 ~ 12& 240
OY & syl 1,380,940 * 1H * 23] 2,762
OdEIE &Yl 102,640 * 19 = 20 2,053
ozazd =28 24 754,235
oJlezstaz) 552,960
-85 = 2,330,240& * 169 = 12& 447,407
9s = 2,398,920& * 44 ~ 11& 105,553
ozs=4¢ 27,582
-8 2 116,510 * 16 = 128 22,370
95 = 118,440& + 49 « 11& 5,212
O&eAxE 11,800
-85 = 50,000& * 16 = 12& 9,600
95 50,000& ~ 49 x 11& 2,200
Oxl=22Y 38,937
-85 164,500& * 169 = 12& 31,584
9s =2 167,100 * 49 x 11& 7,353
OSx=&R2aY 7,080
-85 2 30,000& » 16Y = 12& 5,760
95 = 30,000& ~ 49 « 11& 1,320
OF Mz A 33,040
-85 = 140,000& = 169 * 12& 26,880
953 140,000 * 49 x 11& 6,160
oixisx< 5,600
-85 = 20,000& » 16YH = 12& 3,840
9s =2 40,0008 * 49 x 11& 1,760
OY ZE =t 42,022
-85 =2 1,165,120& * 16Y * 23] 37,284
95 = 1,184,460 * 49 * 13 4,738
OA I AHH| 35,214
-85 = 87,7603 » 169 = 20 28,084
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S E B (3H) - MBAY - BES ﬁlf& HD=2

9s =2 89,120 20 7,130
OFA SR B 150,858
oJleazstaz) 2,291,350 128 109,985
o=2x52Y 114,560& 128 5,499
O&e=¢ 50,000& 128 2,400
Oxl=22xE 162,000& 12& 7,776
OFHZAH| 140,000 128 6,720
OSxaR2aY 30,000& 12& 1,440
OIE=Y 20,000& 128 960
OY &SIyl 1,145,670& * 4% * 23] 9,166
OGIIE A 86,4003 * 4% x 20< 6,912

303 A2 20,000 0 20,000

02 A= 20,000 0 20,000
O=322% a3 800,000 = 25&H 20,000

304 H=2R2E=2S 106,755 0 106,755

01 =82 =2 43,771 0 43,771
O=01HZ JI&AFE 972,669,000& * 4.5% 43,771

02 20AH2d2E2 37,207 0 37,207
OAHLEE JARe= 37,207
OHZdEE= 972,669,000& * 3.43% 33,363
OIIYEE= 33,363,000& * 11.52% 3,844

04 22 (LA 2 NHNELER 25,777 0 25,777
OUNEBMMEE JIHEEZ2 25,777
onggss 972,669,000 * 1.65% 16,050
OMTHEE 2 972,669,000& * 1.00% 9,727

TTEHB HBAIZ AZ2H(23) 183,015 175,623 7,392
= 54,480
& 27,240
Al 101,295

101 @121l 161,712 175,623 AN 13,911
= 54,480
& 27,240
Al 79,992

03 BLRA(RIHX)22XE % 161,712 175,623 AN 13,911
OZ2RAZZX B 161,712
[OPIR==] 2,407,770& = 44 ~ 12& 115,573
= 54,480
& 27,240
Al 33,853
oa2s52Y 120,380& * 49 = 128 5,779
O&e= 50,000 * 4™ x 12& 2,400
OY &=t 1,203,880& * 44 x 23] 9,632
Ox=l=2R 169,500& * 49 x 12& 8,136
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OMR=Z2 220,000& = 12& 2,640
O&H A &Y 4,198
o=a 100& = 4,356m = 73| 3,050
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OZD=2LH9 tHE ¢4l 3,817
o=z 1403 = 4,356m x 43| 2,440
Oag=2 140 = 817m = 43| 458
OMR =2 1403 = 1,640m = 43| 919
oot et NESEH| 442
OLgord AL X (22) 210,000& = 13 210
OL YoM AL (M2 2)
210,000& * 13 210
OS5I erde|H(22) 22,0008 * 13 22
OMNAANE HIBAH(NHMAZR)
30,000 = 13| 30
O35 AIdZE HIIHEEAH =42
4,000,000 = 20 * 23] 16,000
OdFsx HFA 1,043
o=z 14,0003 = 488 * 13l 672
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SRl BAsE RS EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o4 100,000& » 4% * 13| 400
02 2324l 17,632 4,000 13,632
OFFAl BYsts 2SS SHOX sX2e
850,000& * 123 10,200
OBZAl HMSs EHE 08 L AHEO 2K
22| 286,000 = 12& 3,432
OBWMBSTARS 2L
4,000,000 = 13l 4,000
203 YR =2l 2,000 2,000 0
03 AIMFAH S =AY 2,000 2,000 0
OAHZ=XH =AY 2,000,000& 2,000
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